

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
1946	81272000	1	81272000	100	Commercial accounts, 1946-47 (BP 33 (47), POST 69/32)	The Commercial accounts for 1945-46 (BP 22 (46), POST 69/27) were provisional. Therefore the income for 1945-46 has been taken from the accounts for the following year (which give figures for 1945-46 and 1946-47).
1947	89577000	1.07	83716822	103.0082	Commercial accounts, 1947-48 (BP 37 (48), POST 69/37)	The Commercial accounts for 1946-47 (BP 33 (47), POST 69/32) were provisional. Therefore the income for 1946-47 has been taken from the accounts for the following year (which give figures for 1946-47 and 1947-48).
1948	96360922	1.15239	83618325	102.887	Commercial accounts, 1947-48, pp. 22- 23	
1949	101989391	1.184657	86091922	105.9306	Commercial accounts, 1948-49, pp. 24- 27	
1950	104613452	1.221381	85651756	105.389	Commercial accounts, 1949-50, pp. 24- 25	
1951	106547038	1.332527	79958635	98.38399	Commercial accounts, 1950-51, pp. 26- 27	
1952	120660575	1.455119	82921422	102.0295	Commercial accounts, 1951-52, pp. 26- 27	
1953	132676527	1.500228	88437566	108.8168	Commercial accounts, 1952-53, pp. 26- 27	
1954	138960922	1.527232	90988728	111.9558	Commercial accounts, 1953-54, pp. 26- 27	
1955	145393551	1.595958	91101129	112.0941	Commercial accounts, 1954-55, pp. 28- 29	

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
	152860383				Commercial accounts, 1955-56, pp. 28-	This is the total income for the year
1956	152800585	1.67416	91305738	112.3459	29	minus the deficit.
	175196216				Commercial accounts and report,	
1957	173130210	1.736104	100913459	124.1676	1956-57, p. 24	
	189988268				Report and commercial accounts,	
1958	103300200	1.788187	106246328	130.7293	1957-58, p. 34	
	202434301				Report and commercial accounts,	
1959	202434301	1.798916	112531283	138.4625	1958-59, p. 34	
	213189511				Report and commercial accounts,	
1960	213189311	1.816905	117336634	144.3752	1959-60, p. 30	
	223046439				Report and commercial accounts,	
1961	223040439	1.87868	118725101	146.0836	1960-61, p. 40	
	232995949				Report and accounts for the year	
1962	232993949	1.959463	118908066	146.3088	ended 31 March, 1962, pp. 34-35	
	241453525				Report and accounts for the year	
1963	241433323	1.998652	120808175	148.6467	ended 31 March, 1963, pp. 36-37	
	261996181				Report and accounts for the year	
1964	201330181	2.064608	126898770	156.1408	ended 31 March, 1964, pp. 32-33	
	273658153				Report and accounts for the year	
1965	273038133	2.163709	126476419	155.6211	ended 31 March 1965, pp. 40-41	
	318767032				Report and accounts for the year	
1966	318707032	2.248094	141794381	174.4689	ended 31 March 1966, pp. 54-55	
	340572413				Report and accounts for the year	
1967	J40J/2413	2.304296	147798907	181.8571	ended 31 March 1967, pp. 54-55	
	359901927				Report and accounts for the year	
1968	333301327	2.412598	149176099	183.5517	ended 31 March 1968, pp. 50-51	
	377850000				Report and accounts for the year	Figures change to millions.
1969	377830000	2.542878	148591474	182.8323	ended 31 March 1969, p. 54	rigures change to minions.

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
1970	397300000	2.705622	146842375	180.6802	Report and accounts for the six months ended 31 March 1970, p. 148	Accounts for 1 Apr-30 Sep 1969, £191,234 from Report and accounts for the six months ended 30 Sep 1969, p. 26. Accounts for 1 Oct 1969-31 Mar 1970, £204,516 from Report and accounts for the six months ended 31 Mar 1970, p. 60. Post Office changed to public corporation status on 1 Oct 1969. This does not quite add up so I am not quite sure how they arrived at this figure.
1971	270272000				Report and accounts for the year	
19/1	516097000	2.959951	128168686	157.7034	ended 31 March 1971, p. 55 Report and accounts for the year ended 31 March 1972, p. 46	This no longer includes Giro and Remittance services, which are now recorded separately. Please note that the accounts do become more
1972		3.170107	162801116	200.3164	ondod o'r Maron 1072, p. 10	complicated as evidenced by the 11 pages of explanatory notes.
1973	561351000	3.461757	162157823	199.5248	Report and accounts for the year ended 31 March 1973, p. 42	
1974	631411000	4.015638	157238017	193.4713	Report and accounts for the year ended 31 March 1974, p. 38	
1975	773219000	4.987423	155033780	190.7592	Report and accounts for the year ended 31 March 1975, p. 48	
1976	1088600000	5.810347	187355404	230.5288	Report and accounts for the year ended 31 March 1976, p. 48	
1977	1200000000	6.728382	178348960	219.447	Report and accounts for the year ended 31 March 1977, p. 54	
1978	1325100000	7.286838	181848420	223.7529	Report and accounts for the year ended 31 March 1978, p. 51	
1979	1447400000	8.263274	175160587	215.5239	Report and accounts for the year ended 31 March 1979, p. 56	

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
	1708000000				Extracts from Post Office accounts and reports of Posts, National Girobank & Postal Orders for the year ended 31	
1980		9.750664	175167561	215.5325	March 1980, p. 20	
1981	2125200000	10.91099	194776042	239.6595	Report and accounts for the year ended 31 March 1981, p. 30	
1982	2438200000	11.84934	205766766	253.1829	Report and accounts for the year ended 31 March 1982, p. 42	
1983	2649000000	12.39441	213725420	262.9755	Report and accounts for the year ended 31 March 1983, p. 54	
1984	2776600000	13.01413	213352748	262.5169	Report and accounts for the year ended 31 March 1984, p. 48	
1985	3130000000	13.80799	226680350	278.9157	Report and accounts for the year ended 31 March 1985, p. 34	
1986	3159000000	14.27746	221257818	272.2436	Report and accounts for the year ended 31 March 1986, p. 46	
1987	3473300000	14.87712	233465964	287.2649	Report and accounts for the year ended 31 March, 1987, p. 56	
1988	3790800000	15.60609	242905117	298.8792	Report and accounts for the year ended 31 March 1988, p. 50	
1989	3914800000	16.82337	232700122	286.3226	Report and accounts for the year ended 31 March 1989, p. 58	
1990	4459400000	18.42159	242074666	297.8574	Report and accounts for the year ended 31 March 1990, p. 62	
1991	4719000000	19.50846	241895021	297.6364	Report and accounts for the year ended 31 March 1991, p. 52	
1992	5149000000	20.23028	254519515	313.17	Report and accounts for the year ended 31 March 1992, p.56	
1993	5345000000	20.55396	260047209	319.9715	Report and accounts for the year ended 31 March 1993, p. 44	

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
1994	5568000000	21.04726	264547558	325.5089	Report and accounts for the year ended 31 March 1994, p.28	
1995	5878000000	21.78391	269832192	332.0113	Report and accounts for the year ended 31 March 1995, p. 86	
1996	6210000000	22.30672	278391406	342.5428	Report and accounts for the year ended 31 March 1996, p. 94	
1997	6370000000	22.99823	276977819	340.8035	Report and accounts for the year ended 31 March 1997, p. 118	
1998	6759000000	23.78017	284228397	349.7249	Report and accounts for the year ended 31 March 1998, Accounts, p. 78	
1999	7010000000	24.13687	290427004	357.3519	Report and accounts for the year ended 31 March, Accounts, p. 86	
2000	7522000000	24.86098	302562487	372.2838	Report and accounts for the year ended 31 March 2000, Accounts, p. 46	
2001	7953000000	25.30848	314242526	386.6553	Consignia report and accounts for the Post Office for the year ended 31 March 2001, Accounts, p. 10	
2002	8408000000	25.73872	326667347	401.9433	Consignia report and accounts for the Post Office for the year ended 31 March 2002, Accounts, p. 18	£8,408 is the total revenue which is broken down as follows: Mails & Parcels £7,350; Counters £953; Other £105
2003	8299000000	26.48514	313345464	385.5516	Royal Mail Group plc Annual Review for the year ended 31 March 2003, p. 27	£8,299 is the total revenue which is broken down as follows: Mails & Parcels £7,351; Counters £899; Other £49

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
2004	8633000000	27.2797	316462433	389.3868	Royal Mail Group plc Annual Review for the year ended 31 March 2004, p. 14	£8,633 is the total revenue which is broken down as follows: Royal Mail £6,589; Post Office Ltd £977; General Logistics Systems £818; Parcelforce Worldwide £245; Other £4
2005	8956000000	28.04353	319360642	392.9529	Royal Mail Group plc Annual Review for the year ended 31 March 2005, p.19	£8,956 is the total revenue which is broken down as follows: Royal Mail £6,763; Post Office Ltd £976; General Logistics Systems £913; Parcelforce Worldwide £298; Other £6
2006	9056000000	28.94092	312913301	385.0198	Royal Mail Group plc Annual Review for the year ended 31 March 2006, p. 22	£9,056 is the total revenue which is broken down as follows: Royal Mail £6,859; General Logistics Systems £1,037; Parcelforce Worldwide £314; Post Office Ltd £838; Other £8
	9179000000				Royal Mail Group plc Annual Review for the year ended 31 March 2007, p. 5	£9,179 is the total revenue which is broken down as follows: Royal Mail £6,857; General Logistics Systems £1,082; Parcelforce Worldwide £337; Post Office Ltd £868; Other £35
2007		30.18538	304087573	374.1603		

DATE (1 Jan)	Gross Revenue	RPI factor	Revenue deflated to 1946	revenue index	Source	Comments
2008	9388000000	31.3928	299049475	367.9613	Royal Mail Group plc Annual Review for the year ended 31 March 2008, p.	£9,388 is the total revenue which is broken down as follows: Royal Mail £6,830; General Logistics Systems £1,232; Parcelforce Worldwide £379; Post Office Ltd £911; Other £36
2009	9560000000	31.23583	306058732	376.5857	Royal Mail Group plc Annual Review for the year ended 31 March 2009, p. 5	£9,560 is the total revenue which is broken down as follows: Royal Mail £6,707; General Logistics Systems £1,495; Parcelforce Worldwide £399; Post Office Ltd £908; Other £51
2010	9349000000	32.64145	286414995	352.4153	Royal Mail Group plc Annual Review for the year ended 31 March 2010, p. 4	£9,349 is the total revenue which is broken down as follows: Royal Mail £6,564; General Logistics Systems £1,487; Parcelforce Worldwide £399; Post Office Ltd £838; Other £61